
MANUFACTURERS
PARTS CATALOG
2024-2025

C R O W N  R O Y A L  S T O V E S



TABLE OF CONTENTS

DIAGRAM OF STOVE EXTERIOR	 4

AIR DELIVERY	 12

CLEANING	 18

DOORS	 22

ELECTRONICS	 29

MAINTENANCE	 31

OUTER CLADDING	 32

POWDER COATED PARTS	 33



Thank you for choosing the most trusted stove on the market! 

For pricing please contact Greentech Manufacturing or refer to the live online price list 
(you will need to contact Greentech Manufacturing for access).  Pricing does not reflect 
shipping costs. Please contact Greentech Manufacturing for a quote.

To Contact Greentech Manufacturing:
Phone: 866-361-7355
Email: office@green-techmfg.com
Fax: 218-283-5786

Shipping Address:
2716 Crescent Drive
International Falls, MN 56649

Hours:
Monday - Friday: 8:00AM - 5:00PM (CST)

Shipping Information
All items should be inspected upon arrival and any damage must be noted with carrier.



4   |   CROWN ROYAL STOVES   |   866-361-7355

ROOF PANEL

ROOF PANEL

RIDGECAP

OUTSIDE 
CORNER - LH

OUTSIDE 
CORNER - RH

BANNER

SLOT COVER

SLOT COVER 
WITH DRAIN LIP

PEAK PLATE - F

HINGE
EX DOOR

HINGE
FIREBOX DOOR

FRONT 
CLADDING

FIREBOX 
DOOR

ASH DOOR

HEAT EXCHANGER 
DOOR

DAMPER 
HANDLE

CONTROLLER 
ASSEMBLY

WATER 
LEVEL 
INDICATOR

SHAKER 
HANDLE

RIGHT WITH 
CONTROLS TIN

FRONT RIGHT 
SIDE TIN

FRONT LEFT 
SIDE TIN

DIAGRAM OF STOVE EXTERIOR
CURRENT 7200MP, 7300MP, 7350MP, 7400MP

ASH DOOR 
HINGE

LIGHT

ROLLER LATCH STYLE

ROLLER 
LATCH STYLE



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   5

EDGE CLADDING 
COVER - LF

EDGE CLADDING 
COVER - RT

REAR ACCESS 
DOOR

OUTSIDE 
CORNER - R RH

OUTSIDE 
CORNER - R LH

BANNER

REAR UPPER 
PEAK CLADDING

PEAK PLATE - R

LEFT WITHOUT 
CONTROLS TIN

REAR LEFT TIN

REAR RIGHT TIN



6   |   CROWN ROYAL STOVES   |   866-361-7355

RIDGECAP

OUTSIDE 
CORNER - LH

OUTSIDE 
CORNER - RH

LATCH COVER

PEAK PLATE - F

HINGE
EX DOOR

HINGE
FIREBOX DOOR

FRONT 
CLADDING

FIREBOX 
DOOR

ASH DOOR

HEAT EXCHANGER 
DOOR

DAMPER 
HANDLE

CONTROLLER 
ASSEMBLY

WATER 
LEVEL 
INDICATOR

SHAKER 
HANDLE

RIGHT WITH 
CONTROLS TIN

FRONT RIGHT 
SIDE TIN

FRONT LEFT 
SIDE TIN

LATCH STYLE

DIAGRAM OF STOVE EXTERIOR
PREVIOUS GENERATION 7200MP, 7300MP, 7400MP

LIGHT

ASH DOOR 
HINGE

GRAYED-OUT NAMES ARE THE SAME BETWEEN THE CURRENT 
GENERATION AND THE PREVIOUS GENERATION

SAFETY LATCH STYLE

SAFETY 
LATCH STYLE

ROOF PANEL

ROOF PANEL

BANNER



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   7

ACCESS PANEL

OUTSIDE 
CORNER - R RH

OUTSIDE 
CORNER - R LH

BANNER

PEAK PLATE - R

LEFT WITHOUT 
CONTROLS TIN

REAR LEFT TIN

REAR RIGHT TIN

ACCESS PANEL ACCESS PANEL



8   |   CROWN ROYAL STOVES   |   866-361-7355

ROOF PANEL

ROOF PANEL
RIDGECAP

OUTSIDE 
CORNER - LH

OUTSIDE 
CORNER - RH

BANNER

PEAK PLATE - F

HINGE

HINGE

FRONT 
CLADDING

FIREBOX 
DOOR

ASH DOOR

HEAT EXCHANGER 
DOOR

DAMPER 
HANDLE

CONTROLLER 
ASSEMBLY

WATER 
LEVEL 
INDICATOR

SHAKER 
HANDLE

RIGHT WITH 
CONTROLS TIN

FRONT RIGHT 
SIDE TIN

FRONT LEFT 
SIDE TIN

FRONT CLADDING - 
TOP

FRONT CLADDING - 
FRONT SIDE

FRONT 
CLADDING - 
BOTTOM STRIP

FRONT CLADDING - 
BOTTOM

DOUBLE LATCH 
HANDLE

SAFETY 
LATCH 
HANDLE

DIAGRAM OF STOVE EXTERIOR
7500MP

ASH DOOR 
HINGE

LIGHT



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   9

REAR ACCESS 
DOOR - RIGHT 
WITH LATCH

OUTSIDE 
CORNER - R RH

OUTSIDE 
CORNER - R LH

BANNER

REAR UPPER 
PEAK CLADDING

PEAK PLATE - R

LEFT WITHOUT 
CONTROLS TIN

REAR ACCESS 
DOOR - LEFT



10   |   CROWN ROYAL STOVES   |   866-361-7355

ROOF PANEL

ROOF PANEL

RIDGECAP

OUTSIDE 
CORNER - F LH

OUTSIDE 
CORNER WITH 
HOLE - F RH

BANNER

SLOT COVER 
WITH DRAIN LIP

SLOT COVER 

PEAK PLATE - F

HINGE

HINGE

FRONT 
CLADDING

SECONDARY 
COMBUSTION 
DOOR WITH 
CLADDING

FIREBOX DOOR

CONTROLLER 
ASSEMBLY

WATER  
LEVEL  
INDICATOR

ROLLER 
BEARING 
HANDLE

RIGHT WITH 
CONTROLS TIN

FRONT RIGHT 
SIDE TIN

FRONT LEFT 
SIDE TIN

SECONDARY 
COMBUSTION

ROLLER BEARING 
HANDLE
FIREBOX DOOR

CLEANOUT BAR 
WITH HANDLE

DRIP TRAY

DIAGRAM OF STOVE EXTERIOR
7200E, 7300E, 7400E

LIGHT



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   11

REAR ACCESS 
DOOR

OUTSIDE 
CORNER - R RHOUTSIDE 

CORNER - R LH

BANNER

REAR UPPER 
PEAK CLADDING

PEAK PLATE - R

LEFT WITHOUT 
CONTROLS TIN



12   |   CROWN ROYAL STOVES   |   866-361-7355

AIR DELIVERY

PRISTINE REFRACTORY PIECES

7200E ITEM # 7300E ITEM # 7400E ITEM # DESCRIPTION

BK10 BK13 BK16 Base Block

BK11 BK14 BK17 Top Side Block

BK24 BK19 BK29 Middle Block

BK25 BK20 BK30 Front Block

BK26 BK21 BK31 Back Block

BK27 BK22 BK32 Top Rear Block

BK28 BK23 BK23 Top Front Block

PRISTINE REFRACTORY SETS

ITEM # MODEL DESCRIPTION

60-105 7200E
Next Gen 2020 	
Refractory Set60-106 7300E

60-107 7400E

121 EA
Furnace Cement and 
Fireplace 	
Mortar

7200E - BK10
7300E - BK13
7400E - BK16

BASE BLOCK

7200E - BK11
7300E - BK14
7400E - BK17

TOP SIDE BLOCK

7200E - BK26
7300E - BK21
7400E - BK31

BACK BLOCK

7200E - BK27
7300E - BK22
7400E - BK32

TOP REAR BLOCK

7200E - BK28
7300E - BK23
7400E - BK23

TOP FRONT BLOCK

7200E - BK11
7300E - BK14
7400E - BK17

TOP SIDE BLOCK

7200E - BK24
7300E - BK19
7400E - BK29

MIDDLE BLOCK

7200E - BK25
7300E - BK20
7400E - BK30

FRONT BLOCK

SINGLE HOLE BASE BLOCK

ITEM # MODEL

BK12 7200E

BK15 7300E

BK18 7400E
BASE BLOCK

SIDE BLOCK SIDE BLOCK
SAME AS 
ABOVE

SAME AS 
ABOVE

SAME AS 
ABOVE

SINGLE HOLE 
BASE BLOCK

7200E - BK12	
7300E - BK15
7400E - BK18

ARCHIVED MODELS

When ordering we must know 
thickness of block



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   13

CRC0394

PREVIOUS PRISTINE REFRACTORY

7300E ITEM # 7400E ITEM # DESCRIPTION

BK 1 BK 1 Front Top Block

BK 3 BK 6 Top Block

BK 4 BK 7 Bottom Block

BK 5 BK 5 Top Block with 
Two Holes

BK 8 BK 9 Rear End Block

TOP BLOCK
7300E - BK6 
7400E - BK6

TOP BLOCK
WITH TWO HOLES

7300E - BK5 
7400E - BK5

TOP BLOCK
7300E - BK3 
7400E - BK6

FRONT TOP 
BLOCK

7300E - BK1 
7400E - BK1

BOTTOM BLOCK
7300E - BK7 
7400E - BK7

BOTTOM BLOCK
7300E - BK4 
7400E - BK7

BOTTOM BLOCK
7300E - BK7 
7400E - BK7

BOTTOM BLOCK
7300E - BK7 
7400E - BK7

REAR END 
BLOCK
7300E - BK8 
7400E - BK9

PRISTINE BLOCK UPGRADE KITS 
TO 2020

REAR SET 
OF AIR PAN-
ELS ONLY 
ITEM #

FULL SET 
OF AIR 
PANELS 
ITEM #

MODEL

60-108 P 60-108 F 7200E

60-109 P 60-109 F 7300E

60-110 P 60-110 F 7400E

7200E - BK26
7300E - BK21
7400E - BK31

BACK BLOCK

7200E - BK27
7300E - BK22
7400E - BK32

TOP REAR BLOCK

7200E - BK28
7300E - BK23
7400E - BK23

TOP FRONT BLOCK

7200E - BK24
7300E - BK19
7400E - BK29

MIDDLE BLOCK

7200E - BK25
7300E - BK20
7400E - BK30

FRONT BLOCK

Includes Top Ceramic Blocks, Air Panels, 
Airplate, and Retrofit Guide for  
installation details

UPGRADE KIT

Rear Set of Air Panels Only

Stoves equipped with these blocks 
are not upgradeable

EXTRA PARTS

ITEM # DESCRIPTION

CRC0394 Air Panel Filler Plate



14   |   CROWN ROYAL STOVES   |   866-361-7355

*7300E ARCHIVED UNIT - Height can either be 
20” (with holes at the bottom of the air panels) 
or 24” (with holes 4” from the bottom). 

SFL
SML

SRL RL
RR

SRR
SMR

SFR

PRISTINE AIR PANELS

DIAG #
ITEM #

DESCRIPTION
7200E 7300E 7400E

1 CRP1209 CRP1419 CRP1613 Side Front Left

2 CRP1210 CRP1420 CRP1614 Side Middle Left

3 CRP1211 CRP1421 CRP1615 Side Rear Left

4 CRP1212 CRP1422 CRP1616 Rear Left

5 CRP1213 CRP1423 CRP1617 Rear Right

6 CRP1214 CRP1424 CRP1618 Side Rear Right

7 CRP1215 CRP1425 CRP1619 Side Middle Right

8 CRP1216 CRP1426 CRP1620 Side Front Right

 ARCHIVED PRISTINE AIR PANELS

ABBR.
ARCHIVE ITEM #

DESCRIPTION
7200E 7300E 7400E

SFL 72E-P0401 7300EU-025 7400EU-032 Side Front Left

SML 72E-P0402 7300EU-026 7400EU-033 Side Middle Left

SRL 72E-P0403 7300EU-027 7400EU-034 Side Rear Left

RL 72E-P0404 7300EU-028 7400EU-035 Rear Left

RR 72E-P0405 7300EU-029 7400EU-036 Rear Right

SRR 72E-P0406 7300EU-030 7400EU-037 Side Rear Right

SMR 72E-P0407 7300EU-031 7400EU-038 Side Middle Right

SFR 72E-P0408 7300EU-032 7400EU-039 Side Front Right

*7400E ARCHIVED UNIT - Height can either be 
28” (with holes at the bottom of the air panels) 
or 32” (with holes 4” from the bottom).

 ARCHIVED PRISTINE AIR PANELS

ARCHIVE ITEM #
DESCRIPTION

7200E 7300E

72E-P0300 73EU-400 Rear

72E-P0301 L 73EU-401 L Side - Left

72E-P0301 R 73EU-401 R Side - Right

LEFT

RIGHT



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   15

MOUNTING PLATES

ITEM # MODEL DESCRIPTION

CRC0009 MP / Shaker Heat Exchanger Mount Plate

CRC0010 MP / Shaker Heat Exchanger Mount Cover Plate

CRC0022 MP / Shaker Fan Solenoid Mount Plate

REAR AIR TUBE ASSEMBLY

ITEM # MODEL

190335 A 7200 / 7300

190335 B 7400 / 7500

190336 A 7200MP

190336 B 7300MP / 7350MP / 7400MP

190336 C 7500MP

Includes: 90DEG Alum Elbow (S), Flex Vent  
and Clamps (S)

SHAKER GRATE SERIES MP SERIES

TURBO DRAFT REAR AIR TUBE

ITEM # MODEL DESCRIPTION

490089 7200 30”

490054 7300 40”

490037 7400 48”

490078 7500 56”

CRC0030 A 7200MP 34”

CRC0030 B 7300MP 36”

CRC0030 E 7350MP 43”

CRC0030 C 7400MP 50”

CRC0030 D 7500MP 57”

CHIMNEY ANCHOR PLATE

ITEM # MODEL

CRC0024 7200 / 7200MP / 7300 / 7300MP / 7350MP

CRP0439 7400 / 7400MP

CRP0528 7500 / 7500MP

CRC0009

CRC0022

CRC0010

SOLENOID

ITEM # MODEL DESCRIPTION

50-036 2005-F-34



16   |   CROWN ROYAL STOVES   |   866-361-7355

FIREBOX DAMPER PLATE ASSEMBLY

ITEM # MODEL DESCRIPTION

CRC0103 ASM MP / Shaker Assembly; Includes Bolt / Nut

CRA0069 ASM 7500MP / 7500 Assembly; Includes Bolt / Nut

DAMPER PLATES [SOLENOID STYLE]

ITEM # MODEL DESCRIPTION

CRC0053 A MP / Shaker Round 3.75” Upper

CRC0053 B Shaker Round 4.5” Lower

CRC0053 C MP Round 5.75” Lower

CRC0053 D Pristine Square 6”

CRC0053 H Pristine Square 4”

DAMPER PLATES [ACTUATOR STYLE]

CRC0053 E MP Round 3.75” Upper

CRC0053 F MP Round 5.75” Lower

CRC0053 G Pristine Square 6”

A
B/C

D

E

F

G

DAMPER HANDLE

ITEM # MODEL DESCRIPTION

190333 7200 32” with Black Grip

190226 7300 44” with Black Grip

190187 7400 56” with Black Grip

CRC0373 A 7300MP 39” with Black Grip

CRC0373 B 7350MP 45” with Black Grip

CRC0373 C 7400MP 49.5” with Black Grip

CRC0373 D 7500 / 7500MP 61.4” with Black Grip

CRC0373

COTTER PIN

ITEM # MODEL DESCRIPTION

74212 1/8” x 1-1/2” 18-8 Stainless



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   17

PRISTINE DAMPER PLATE ACTUATOR ASSEMBLY*

ITEM # MODEL DESCRIPTION

CRC0216 ASM Pristine
Air Box with Honeywell Actuator 
Assembly. Includes: Actuator, Air 
Box, and Wiring Harness & Silicone

50-110

Pristine

Damper Actuator, Spring Return, 
44 lbs

CRC0339 Actuator Short Arm

CRC0340 Damper Lifting Arm

CRC0395 Actuator Arm

CRC0053 G Square 6”

11683-05162 Clevis Pin

922717439 E-Clip for Clevis Pin

33004 1/4” Flat Washer (behind E-Clip)

CRC0395CRC0339 CRC0340

CRC0396CRC0329CRC0337

MULTI PASS DAMPER PLATE ACTUATOR ASSEMBLY

ITEM # MODEL DESCRIPTION

CRC0329

MP

Rotational Actuator Arm

CRC0337 Damper Upper Arm

CRC0396 Actuator Arm

CRC0053 E Round 3.75” Upper

CRC0053 F Round 5.75” Lower

50-110 Damper Actuator, Spring Return, 
44 lbs

50-001 Blower with Round Flange, 115V 
CR

50-005 Fantech FG 4XL Blower

11683-05162 Clevis Pin

922717439 E-Clip for Clevis Pin

33004 1/4” Flat Washer

70004 1/4”-20 x 7/8” SS Bolt

37260 1/4”-20 Lock Nut

74104 5/16”-18 x 3/8” x 1-1/2” SS Shoul-
der Bolt

37339 5/16”-18 Flange Nut

*Upgradeable with bolt on Air Box



18   |   CROWN ROYAL STOVES   |   866-361-7355

ASH PAN

POWDER 
COATED BLACK 

ITEM #
409 SS ITEM # MODEL LENGTH

490088 490088-409SS RS7200 35-3/4”

490055 490055-409SS RS7300 47”

490049 490049-409SS RS7400 / RS7500 59-1/2”

CRA0008 CRA0008-409SS 7200MP 34”

CRA0018 CRA0018-409SS 7300MP 42”

CRA0078 CRA0078-409SS 7350MP 48-1/16”

CRA0030 CRA0030-409SS 7400MP 52”

CRA0062 CRA0062-409SS 7500MP 65”

BLACK PAINTED DRIP PAN

ITEM # MODEL DESCRIPTION

CRC0356 ASM 7300E Black drip pan, Slide and Lock Tabs, 
Screws / Rivets, and upgrade template.CRC0357 ASM 7400E

CRC0354 Lock Tab

CRC0355 Slide Tab

CRP1479 7300E
Drip Pan Only

CRP1687 7400E
CRC0354 CRC0355

ASH RAKES (POWDER COATED BLACK)

ITEM # MODEL DESCRIPTION

60-001 Ash Rake 48”, with Fingers

60-002 Ash Rake 60”, with Fingers

CRC0309 A 7200MP Ash Rake 48”

CRC0309 B 7300MP Ash Rake 52”

CRC0309 C
 7350MP / 
7400MP / 

7300E / 7400E
Ash Rake 60”

CRC0309 D 7500MP Ash Rake 84”

CRC0309 E 7200E Ash Rake 48”, Small Head

CLEANING



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   19

SHAKER GRATES AND FRAMES

ITEM # MODEL DESCRIPTION

50-095 MP / Shaker Shaker Grate Frame

50-095 A 7350MP Shaker Grate Half Frame

50-094 MP / Shaker Shaker Grate

50-093 MP / Shaker Rocker Plate - 409SS [a]

SHAKER BAR, ASSEMBLIES, AND CONNECTORS

ITEM # MODEL DESCRIPTION

CRC0101 MP / Shaker Bar Only with Grip

CRC0101 ASM MP / Shaker Assembly* Upgrade

CRA0063 7500MP Bar Only with Grip, Right 
or Left

CRA0063 ASM 7500MP Assembly* Upgrade, 
Right or Left

0115005 1/4  x 1 Yellow Bolt**

37260 1/4  Locknut**

*Assembly includes: Collars, Washers, Nuts, & Bolts

**One of each; connects to Shaker handle 
***Each grate gets one bolt/nut and 2 washers

SHAKER GRATE BARS AND HARDWARE

ITEM # MODEL DESCRIPTION

190334 7200 Connector, 18-3/4”

190228 7300 Connector, 31-3/8”

190189 7400 / 7500 Connector, 44”

CRP0015 7200MP Connector, 19”

CRP0219 7300MP Connector, 27”

CRP0319 7350MP Connector, 33-1/8”

CRP0405 7400MP Connector, 37”

CRP0583 7500MP Connector, 38-13/16”

CRC0007
7200-7400 
/ 7200MP-
7400MP

Common, 12-1/2”

CRP0582  7500MP Common, 23”

190310 7500 Common, 14-15/16”

70009 1/4 x 1-1/2 SS Bolt***

33004 1/4 Washer***

70796 1/4 SS Locknut***

[a] - ARCHIVED



20   |   CROWN ROYAL STOVES   |   866-361-7355



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   21

PRISTINE TURBULATOR PARTS

ITEM # MODEL AMOUNT 
NEEDED DESCRIPTION

CRC0301 ASM 7200E 16

Replacement Turbulator Assembly
CRC0302 ASM

7300E 20

7400E 24

70001 1/4” x 5/8” SS Bolt

70796 1/4” SS Lock Nut

CRC0203 Pristine 4 Turbulator Hanger

CRA0207
7200E

4

Turbulator Rocker Assembly without Pins

CRA0207 ASM Turbulator Rocker Assembly with Pins

CRA0307
7300E

Turbulator Rocker Assembly without Pins

CRA0307 ASM Turbulator Rocker Assembly with Pins

CRA0407
7400E

Turbulator Rocker Assembly without Pins

CRA0407 ASM Turbulator Rocker Assembly with Pins

CRC0299 A 7300E 4 Turbulator Pins 2”

CRC0299 B 7200E 12 Turbulator Pins 5”

CRC0299 C 7300E 12 Turbulator Pins 7”

CRC0299 D 7400E 12 Turbulator Pins 7.75”

922925703 Push Ring - 3/8” (2 per Turbulator Pin)

CRC0245 CRC0362

PRISTINE TURBULATOR ACTUATOR ASSEMBLY

ITEM # MODEL DESCRIPTION

CRC0245

Pristine

Turbulator Actuator

CRC0362 Lower Turbulator Control Arm

32L010 Shaft Collar

11683-04867 Torsion Spring

11683-05162 Clevis Pin

922717439 E-Clip for Clevis Pin

33004 1/4” Flat Washer

CRC0373 E 7200E 46” Cleanout Bar

CRC0373 F 7300E 52” Cleanout Bar

CRC0373 G 7400E 57” Cleanout Bar

CRC0373 H 7200E 51” Cleanout Bar with threaded end and grip

CRC0373 I 7300E 57” Cleanout Bar with threaded end and grip

CRC0373 J 7400E 62” Cleanout Bar with threaded end and grip

ARCHIVED CLEANOUT 
BAR WITH THREADED 

END AND GRIP



22   |   CROWN ROYAL STOVES   |   866-361-7355

PRISTINE FIREBOX DOORS [ROLLER LATCH STYLE]

ITEM # MODEL DESCRIPTION

CRA0213 7200E Door Only for Roller Latch 
System, 18 x 18 *April 2018

CRA0313 20x24 7300E Door Only for Roller Latch 
System, 20 x 24 *April 2019

CRA0413 7400E Door Only for Roller Latch 
System, 22 x 26 *June 2018

CRC0255 A 7200E
Roller Latch Handle, Firebox 
DoorCRC0255 C 20x24 7300E

CRC0255 F 7400E

CRA0214 7200E
Firebox Door Cladding, with 
StickersCRA0314 20x24 7300E

CRA0414 7400E

CRA0219 7200E
Firebox Door with Cladding 
& Roller Latch HandleCRA0320 20x24 7300E

CRA0420 7400E

6739359882 1” BLK Screws (10 Per FB 
DOOR)

32L012 3/4” Shaft Coller (1 Per RL 
Handle)

DOORS

BOLT ON HANDLE LOCATOR (2 PER DOOR)

ITEM # DESCRIPTION

CRC0257
Locator (2 Nuts & Bolts Per 
Handle Locator)

13003 1/4” x 3/4” Bolt

37260 1/4” Lock Nut

ARCHIVED PRISTINE FIREBOX DOORS

ITEM # MODEL DESCRIPTION

CRA0313 20x20 7300E Firebox Door only for Roller latch System, 20 x 20 *May 2018 - April 2019

CRA0314 20x20 7300E Firebox Door Cladding, only 20 x 20 *May 2018 - April 2019

CRA0320 20x20 7300E Complete Firebox Door 20 x 20 with Cladding & Roller Latch Handle *May 2018 - April 2019

CRC0255 C 20x20 7300E Roller Latch Handle for 20 x 20 Firebox Door *May 2018 - April 2019

590061 7200E Firebox Door for Safety Latch 18 x 18, Safety Handle not included *Prior to June 2018

590032 7300E Firebox Door for Safety Latch 20 x 20, Safety Handle not included *Prior to June 2018

590035 7400E Firebox Door for Safety Latch 22 x 26, Safety Handle not included *Prior to June 2018



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   23

SECONDARY 
COMBUSTION  
CHAMBER  

HEATSHIELD

ITEM # MODEL

CRA0204 7200E

CRA0304 7300E

CRA0403 7400E

PRISTINE REAR CLEANOUT DOOR

ITEM # MODEL DESCRIPTION

CRC0273 Pristine Cleanout Door

3233986 Pristine Toggle Clamp

PRISTINE SECONDARY COMBUSTION DOORS [ROLLER LATCH STYLE]

ITEM # MODEL DESCRIPTION

CRA0215 7200E
Secondary Combustion Door 
Only for Roller Latch SystemCRA0315 7300E

CRA0415 7400E

CRC0255 B 7200E
Roller Latch Handle, 	
Secondary Combustion DoorCRC0255 D 7300E

CRC0255 G 7400E

CRA0216 7200E
Secondary Combustion Door 
CladdingCRA0316 7300E

CRA0416 7400E

CRA0220 7200E
Secondary Combustion Door 
with Cladding & 	
Roller Latch Handle

CRA0321 7300E

CRA0421 7400E

ARCHIVED PRISTINE SECONDARY COMBUSTION DOOR / 
REAR CLEANOUT DOOR [SAFETY LATCH STYLE]

ITEM # MODEL DESCRIPTION

CRA0215 A 7200E
Archived Pristine Secondary 
Combustion door / Rear 	
Cleanout door

CRA0315 A 7300E

CRA0415 A 7400E



24   |   CROWN ROYAL STOVES   |   866-361-7355

REAR CLEANOUT BLOWER DOOR 

ITEM # MODEL DESCRIPTION

CRA0217 7200E Door with attached Blower Housing only, Safety Latch System

CRA0317 7300E
Door with attached Blower Housing only, Roller Latch System

CRA0417 7400E

CRC0066 SM 7200E Safety Latch Handle - Short Version

CRC0255 E 7300E Roller Latch Handle, 16-3/4”

CRC0255 H 7400E Roller Latch Handle, 21”

CRC0305 A 7200E Motor Assembly with Motor, bracket, wheel (protruded pipe bracket)

CRC0305 B 7200E Motor Assembly with Motor, bracket, wheel (flush mounted pipe)

CRC0304 7300E/7400E Motor Assembly with Motor, bracket, wheel

CRA0221 ASM 7200E
Complete Door (Including Blower Assembly) - Safety Latch 
System

CRA0322 ASM 7300E Complete Door (Including Blower Assembly) - Roller Latch 
SystemCRA0422 ASM 7400E

7200E

7300E / 7400E



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   25

MULTI PASS FIREBOX DOOR [SAFETY LATCH STYLE]

ITEM # MODEL DESCRIPTION

CRC0037 A 7200MP 20” x 20” [a] *Before August 2023

CRC0037 B 7300MP 20” x 20” [a] *Before August 2023

CRA0028 A 7400MP 24” x 24” [a] *Before August 2023

CRA0059 A 7500MP 42” x 30” (Hinge to Hinge: 23-
7/16”), Double Ear7200MP / 7300MP /  

7400MP
7500MP

[a] - ARCHIVED

MULTI PASS FIREBOX DOOR [ROLLER LATCH STYLE]

ITEM # MODEL DESCRIPTION

CRC0037 C 7200MP Door Only, 20” x 20”, *Starting SN 8506

CRC0037 D 7300MP Door Only, 20” x 20”, *Starting SN 8607

CRA0313 A 7350MP Door Only, 20” x 24”

CRA0028 B 7400MP Door Only, 24” x 24”, *Starting SN 8336

CRC0255 I 7200MP Roller Latch Handle

CRC0255 I 7300MP Roller Latch Handle

CRC0255 C 7350MP Roller Latch Handle, 20” x 24”

CRC0255 C 7400MP Roller Latch Handle, 20” x 24”

CRC0387 7200MP

Door Cladding Only
CRC0387 7300MP

CRA0080 7350MP

CRA0033 7400MP

CRC0389 A 7200MP

Firebox Door with Cladding, 
Handle & Stickers

CRC0389 B 7300MP

CRA0082 7350MP

CRA0035 7400MP

6739359882 1” BLK Screws (10 Per FB DOOR)

32L012 3/4” Shaft Coller (1 Per RL Handle)

BOLT ON HANDLE LOCATOR (2 PER DOOR)

ITEM # DESCRIPTION

CRC0257
Locator (2 Nuts & Bolts Per 
Handle Locator)

13003 1/4” x 3/4” Bolt

37260 1/4” Lock Nut

CRC0037 C 7200MP
CRC0037 D 7300MP
CRA0313 A 7350MP
CRA0028 B 7400MP

CRC0257CRC0255 I 7200MP
CRC0255 I 7300MP
CRC0255 C 7350MP
CRC0255 C 7400MP

CRC0387 7200MP
CRC0387 7300MP
CRA0080 7350MP
CRA0033 7400MP



26   |   CROWN ROYAL STOVES   |   866-361-7355

MULTI PASS HEAT EXCHANGER DOOR [ROLLER LATCH STYLE]

ITEM # MODEL DESCRIPTION

CRC0038 C 7200MP Door Only, *Starting SN 8506

CRC0038 D 7300MP Door Only, *Starting SN 8607

CRA0029 B 7350MP Door Only

CRA0029 B 7400MP Door Only,  *Starting SN 8336

CRC0255 J 7200MP

Roller Latch Handle
CRC0255 J 7300MP

CRC0255 K 7350MP

CRC0255 K 7400MP

CRC0388 7200MP

Door Cladding Only
CRC0388 7300MP

CRA0034 7350MP

CRA0034 7400MP

CRC0390 A 7200MP

Complete Door with Cladding, 
Door, & Handle

CRC0390 B 7300MP

CRA0036 7350MP

CRA0036 7400MP

MULTI PASS HEAT  EXCHANGER DOOR  
[SAFETY LATCH STYLE]

ITEM # MODEL DESCRIPTION

CRC0038 A 7200MP [a] *Before August 2023

CRC0038 B 7300MP [a] *Before April 2023

CRA0029 A 7400MP [a] *Before April 2023

CRA0060 7500MP

ASH PAN DOOR [SAFETY 
LATCH STYLE]

ITEM # MODEL

CRC0035 MP / SHAKER

CRA0061 7500MP

[a] - ARCHIVED

CRC0038 C 7200MP
CRC0038 D 7300MP
CRA0029 B 7350MP
CRA0029 B 7400MP

CRC0257CRC0255 J 7200MP
CRC0255 J 7300MP
CRC0255 K 7350MP
CRC0255 K 7400MP

CRC0388 7200MP
CRC0388 7300MP
CRA0034 7350MP
CRA0034 7400MP

CRC0035 CRC0061



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   27

SHAKER GRATE FIREBOX DOOR [SAFETY LATCH STYLE]

ITEM # MODEL DESCRIPTION

590002 7200 / 7300 20” x 20” [a]

590000 7400 24” x 24” [a]

CRA0059 B 7500 42” x 30” (Hinge to Hinge: 23-
1/2”) [a]

7200 / 7300 /  
7400

7500 [a] - ARCHIVED

1” BLACK SCREW
6739359882

HINGE COVER
CRC0047

CLEVIS HINGE ASSEMBLY
TOP - CRC0034T	

BOTTOM - CRC0034B

5/8” FLANGE NUT
37379

MALE CLEVIS 5/8”
CR8-10

1/2” LOCK NUT
37268

1/2” x 1-1/2” BOLT
13209

SHAKER GRATE ASH DOOR 
[BOLT STYLE]

ITEM # MODEL

590001 7200 / 7300 / 
7400 [a]

590007 7500 [a]

ITEM # DESCRIPTION

190205 ASM Ash door latch 
handle [a]

[a] - ARCHIVED

ASH DOOR LATCH HANDLE



28   |   CROWN ROYAL STOVES   |   866-361-7355

MISCELLANEOUS DOOR PARTS

ITEM # MODEL DESCRIPTION

CRC0066 MP /  Shaker Safety Latch Handle

CRC0066 SM 7200E Safety Latch Handle (short version)

CRC0100 7500MP Double Latch Handle

CRC0039 A Common Ash Door Hinge - Double Ear 
Door Hinge PlateCRC0039 B 7500MP

CR8-10 Common Male Clevis, 5/8-18

37379 Common 5/8” Flanged Nut for use on the 
Male Clevis

CRC0283 Common Roller Latch Assembly

CRC0295 7200E
Blower Housing Finger Guard

CRC0268 7300E / 7400E

CRC0393 MP / 7200E Door Latch Plate

11683-03918 SQ U-Bolt 7/16” x 1-5/8” x 3-1/2”

37343 7/16” Flanged Nuts

CRC0042 ASM
Latch Door Assembly Kit - In-
cludes: Latch Door Plate, U-Bolt 
and 7/16” Flanged Nuts

CRC0075
Shaker / 
7500MP / 
7200E

Single Ear Door Hinge - Rear 
Blower Door

CRC0264 7300E / 7400E Single Ear Door Hinge - Reverse 
Bend - Rear Blower Door

CRC0034 B MP / 	
Pristine Clevis Hinge Assembly - Bottom

CRC0034 T MP / 	
Pristine Clevis Hinge Assembly - Top

CRC0377 7200E NBK Motor Bracket, Protruded 
Ring Insert

CRC0378 7200E NBK Motor Bracket, Flush Mount 
(MID 2022-Current)

CRC0075
CRC0264

CRC0034 B CRC0034 T

CRC0393
CRC0042

CRC0295 CRC0283

CRC0039CRC0100

CRC0066

CRC0377
CRC0378



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   29

ELECTRONICS

ELECTRONICS

ITEM # MODEL DESCRIPTION

50-031 Pristine 2 Way White Toggle Electrical Switch [a]

50-032 Shaker 3 Way White Toggle Electrical Switch [a]

WIRING HARNESSES - MODELS WITH ACTUATORS

60-060

7200MP / 
7300MP / 
7350MP / 
7400MP

Complete Wiring Harness60-061 7500MP

60-064 7200E

60-063 7300E / 7400E

WIRING HARNESSES -SHAKER SERIES WITH FRONT CONTROLS (ARCHIVED)

60-081 7200 / 7300

Complete Wiring Harness60-084 7400

60-086 7500

WIRING HARNESSES -SHAKER SERIES WITH SIDE CONTROLS (ARCHIVED)

60-082 7200 / 7300
Complete Wiring Harness

60-085 7400

WIRING HARNESSES - MULTI PASS WITH SOLENOIDS (ARCHIVED)

60-083
7200MP / 
7300MP / 
7400MP Complete Wiring Harness

60-087 7500MP

CRC0049 ASM MP / Shaker Control Panel Assembly

CRC0049 MP / Shaker Control Panel Bracket Only, No Sticker

50-037 MP / Shaker Reostat Fan Speed Control

40-005 MP / Shaker Control Panel Sticker

CRC0275 ASM Pristine Control Panel Assembly

CRC0275 Pristine Control Panel Bracket Only, No Sticker

50-104 Pristine 14mm Harsh Environment Push Button Switch, 
Red

50-105 Pristine Encapsulated Timer Relay, 10A Relay 120V

40-006 Pristine Control Panel Sticker

50-031 & 
50-032



30   |   CROWN ROYAL STOVES   |   866-361-7355

ELECTRONICS

[a] - ARCHIVED

BLOWER MOTORS AND WHEELS

ITEM # MODEL DESCRIPTION

CRC0305 A 7200E
Motor Assembly with Motor, bracket, wheel (pro-
truded pipe bracket)

CRC0305 B 7200E
Motor Assembly with Motor, bracket, wheel (flush 
mounted pipe)

CRC0304 7300E / 7400E Motor Assembly with Motor, bracket, wheel

50-021 7200E 1/8 HP, 3000 RPM, 115V Motor

50-020 7300E / 7400 1/3 HP, 3600 RPM, 115V Motor

CRC0287 7200E Stainless Steel Blower Wheel 6”

CRC0259 7300E / 7400E Stainless Steel Blower Wheel 7”

50-001 MP / Shaker Upper Blower with Round Flange, 115V

50-005 MP 4” Round inline fan, 170 CFM

50-002 Shaker Lower Blower with Rectangular Flange (4-4/8” x 
3-1/2”), 115V [a]

CRC0401 Pristine Blower Wheel Puller

CRC0304

50-020

50-021

CRC0287 AND 
CRC0289

50-001 50-005 50-002

ELECTRONICS (CONTINUED)

ITEM # MODEL DESCRIPTION

50-044 Common White Rodger Electronic Temperature Control, 
24-240V

50-030 Common Non-Luminated Rocker Switch, Black

50-038 Common Brass Thermowell

50-040P MP / Shaker Ranco White Pre-wired Electronic Temperature 
Control, 120V Single Stage [a]

50-035 Common Snap Disc
50-040P

50-035

50-038

50-04450-030

CRC0401



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   31

WATER LEVEL INDICATOR

ITEM # MODEL

60-017 7200 / 7300 / 7400

60-018 7200MP / 7300MP / 
7350MP / 7400MP

60-019 7200E / 7300E / 
7400E

60-020 7500MP

50-050

50-053 & 
50-054

MAINTENANCE

DOOR ROPE

ITEM # MODEL DESCRIPTION

50-050 Common Black High Temp 
Silicone

50-053 Common 1” Silicone Cov-
ered Door Rope

50-054 7500 / 
7500MP

1-1/4” Silicone 
Covered Door 
Rope

SHAKER SERIES SIGHT TUBE

ITEM # MODEL DESCRIPTION

50-090 Shaker Clear Sight Tube (6” Length) [a]

[a] - ARCHIVED50-090

DOOR ROPE REPLACEMENT GUIDE

MODEL 7200MP 7300MP 7350MP 7400MP 7500MP 7200E 7300E 7400E 7200 7300 7400 7500

Firebox Door 7.5’ 7.5’ 8’ 9’ 13’ 7’ 8’ 9’ 7’ 7’ 8’ 12’

Ash Pan Door 4’ 4’ 4’ 4’ 6.5’ 5.5’ 6’ 6’ 3’ 3’ 3’ 5.5’

Heat Ex / Upper 
Blower Door 5’ 5’ 5.5’ 5.5’ 6.5’ 6’ 7’ 7.5’ - - - -

Rear Cleanout - - - - - 4.5’ 4.5’ 4.5’ - - - -

Silicone Needed 1 1 1 1 2 1 1 2 1 1 2 2

Measurements in feet

CHEMICAL

ITEM # DESCRIPTION

Control Chemical Control Chemical

PH+ PH Plus

FIREWOOD MOISTURE METER

ITEM # DESCRIPTION

50-108 Moisture Meter

CLOVER CAPS [STAINLESS STEEL]

ITEM # DESCRIPTION

50-060 6”

50-061 8”

LIGHT FIXTURE & BULB

ITEM # DESCRIPTION

50-096 Fixture

50-097 Light Bulb



32   |   CROWN ROYAL STOVES   |   866-361-7355

OUTER CLADDING

PRISTINE CLADDING (GRAY TIN) AND OUTER DOOR

7200E 7300E 7400E DESCRIPTION

590050 FR 590051 FR 590052 FR Front Right Side

590050 FL 590051 FL 590052 FL Front Left Side

590050 SL 590051 SL 590052 SL Left without Controls

590050 SR 590051 SR 590052 SR Right with Controls

590050 RA 2 590051RA 2 590052RA 2 Black Rear Access Door

590050 RA 590051 RA 590052 RA Rear Access Panel

MULTI PASS & SHAKER GRATE CLADDING (GRAY TIN), REAR ACCESS PANEL, AND OUTER DOOR

7200MP 7300MP 7350MP 7400MP 7500MP 7300 7400 DESCRIPTION

590054 FR 590055 FR 590060 FR 590056 FR 590057 FR 590058 FR 590059 FR Front Right Side

590054 FL 590055 FL 590060 FL 590056 FL 590057 FL 590058 FL 590059 FL Front Left Side

590054 SL 590055 SL 590060 SL 590056 SL 590057 SL 590058 SL 590059 SL Left without Controls

590054 SR 590055 SR 590060 SR 590056 SR 590057 SR 590058 SR 590059 SR Right with Controls

590054 RR [a] 590055 RR [a] - 590056 RR 590057 RR [a] 590058 RR 590059 RR Rear Right

590054 RL [a] 590055 RL [a] - 590056 RL 590057 RL [a] 590058 RL 590059 RL Rear Left

590054 RA [a] 590055 RA [a] - 590056 RA [a] 590057 RA [a] 590058 RA 590059 RA Rear Access Panel

590054 RA 2 590055 RA 2 590060 RA 2 590056 RA 2 590057 RA 2 - - Black Rear Access Door

[a] - ARCHIVED

MISCELLANEOUS PARTS

ITEM # DESCRIPTION

6739359882 1” Black Self Tapper

6739359851 1” Gray Self Tapper

6739107882 1-1/2” Black Self Tapper

50-092 Charcoal Gray Cladding Paint

DOOR LATCH ASSEMBLY

ITEM # DESCRIPTION

CRC0307 Spring Door Latch Assembly



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   33

POWDER COATED PARTS

MULTI PASS CLADDING (POWDER COATED BLACK) [ROLLER LATCH STYLE]

7200MP 7300MP 7350MP 7400MP 7500MP DESCRIPTION

CRP0054 CRP0261 CRP0343 CRP0466 NA Front Cladding

CRP0035 CRP0241 CRP0341 CRP0440 CRP0576 Roof Panel

CRP0034 CRP0242 CRP0342 CRP0441 CRP0575 Ridge Cap

CRP0036 CRP0239 CRP0339 CRP0442 CRP0578 Outside Corner - F RH /  LH

CRP0036 CRP0260 CRP0353 CRP0442 CRP0595 Outside Corner - R RH / LH (Swing Door)

CRP0038 CRP0240 CRP0340 CRP0443 CRP0579 Banner

CRP0044 CRP0252 CRP0352 CRP0456 CRP0596 Rear Upper Peak Cladding

CRC0246 CRC0246 CRC0246 CRC0246 NA Slot Cover with Drain Lip

CRC0046 A CRC0046 B CRC0046 C CRC0046 D CRP0577 Peak Plate, Front with model decal

CRC0046 REAR CRC0046 REAR CRC0046 REAR CRC0046 REAR CRP0577 REAR Rear Peak Plate

CRC0047 CRC0047 CRC0047 CRC0047 CRC0047 Hinge Cover - Ex Door / Firebox Door

CRC0247 CRC0247 CRC0247 CRC0247 NA Slot Cover

NA CRC0088 CRC0088 CRC0088 CRC0088 Damper Rod Beauty Ring

- - - CRP0455 - Edge Cladding Cover - LF / RT

MULTI PASS SERIES

ITEM # DESCRIPTION

CRP0571 Front Cladding - Top

CRP0572 Front Cladding - Front Side

7500MP CLADDING (POWDER COATED BLACK) [SAFETY LATCH STYLE]

[a] - ARCHIVED

MULTI PASS CLADDING (POWDER COATED BLACK) [SAFETY LATCH STYLE] [ARCHIVED]

7200MP 7300MP 7350MP 7400MP 7500MP DESCRIPTION

CRC0048 CRC0048 NA CRC0048 CRC0048 Latch Cover - Ex Door [a]

CRP0039 CRP0243 NA CRP0444 NA Front Cladding (Latch Style) [a]

CRC0089 CRC0089 NA CRC0089 NA Door Latch Washer [a]

CRP0037 CRP0239 NA CURRENT CURRENT Outside Corner - R RH / LH (Access Panel) [a]

CRP0578 Rear Corner Cladding (Access Door Style) [a]

ITEM # DESCRIPTION

CRP0573 Front Cladding - Bottom

CRP0574 Front Cladding - Bottom Strip



34   |   CROWN ROYAL STOVES   |   866-361-7355

PRISTINE CLADDING (POWDER COATED BLACK)

7200E 7300E 7400E DESCRIPTION

CRP1274 CRP1463 CRP1658 Roof Panel

CRP1273 CRP1462 CRP1657 Ridge Cap

CRP1276 CRP1460 CRP1670 Outside Corner - F RH

CRP1275 CRP1459 CRP1659 Outside Corner with Hole - F LH

CRP1277 CRP1460 CRP1671 Outside Corner - R RH / LH

CRC0046 E CRC0046 F CRC0046 G Peak Plate, Front Peak Plate with model number

CRC0046 REAR CRC0046 REAR CRC0046 REAR Rear Peak Plate

CRP1280 CRP1464 CRP1672 Banner - RH / LH

CRC0047 CRC0047 CRC0047 Hinge Cover - Secondary Combustion / Firebox Door

CRP1278 CRP1465 CRP1673 Front Cladding

CRP1279 CRP1461 CRP1674 Rear Upper Peak Cladding

CRC0243 CRC0243 CRC0243 Turbulator Beauty Ring

CRC0246* CRC0246 CRC0246 Slot Cover with Drain Lip (Firebox / Secondary Combustion) {*No Secondary}

CRP1281 NA NA Double Slot Cover

CRC0247* CRC0247 CRC0247 Slot Cover (Firebox / Secondary Combustion) {*No Firebox}

POWDER COATED PARTS
PRISTINE SERIES



OFFICE@GREEN-TECHMFG.COM   |   WWW.CROWNROYALSTOVES.COM   |   35

NOTES




